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2007-08 District Competition

Match #25


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In this painting, a man in a top hat represents the bourgeoisie and a boy carrying pistols represents the lower classes. Its central figure is a nearly-topless woman, wearing a Phrygian (frih-jee-un) cap, that is holding a musket and carrying the French tricolore (tree-kuh-lor). What painting by Eugène (uh-zhen) Delacroix (deh-lah-kwah) celebrates the July Revolution of 1830? 

ANSWER: Liberty Leading the People or La liberté guidant le peuple
2.
Lebanon has not had one since 1932, and Afghanistan has never completed one. In Canada, the last was in 2006 and the next will be in 2011. Many European countries have them in years ending in ‘1.’ The 2000 United States one cost $4.5 billion. For the next American one in 2010, there is some debate about accounting for homeless people and illegal aliens. What is this periodic counting of a nation’s population? 

ANSWER: census(es)

3.
A carpenter uses this word to refer to a piece of wood on either side of a mortise. A doctor uses it to describe the area ‘served’ by the buccal nerve. A British person uses this word to describe impudent behavior. A pastor cites Luke chapter 6, verse 29, in telling people to offer both of them to someone. A tongue can be firmly planted in what area below the eyes, on either side of the face?

ANSWER: cheek(s)

4.
He wrote the letter “Cooling by Evaporation” in 1758. His many inventions include a flexible urinary catheter and bifocal glasses. He was elected to the Royal Society in 1756 for his work with electricity, such as differentiating its positive and negative forms and proving that lightning was electricity. What creator of the Pennsylvania Gazette and author of Poor Richard’s Almanac is on the $100 bill? 

ANSWER: Benjamin Franklin
5.
He wrote the memoir Green Shadows, White Whale, and dabbled with mystery in A Graveyard for Lunatics. His hometown of Waukegan, Illinois, has been recast as ‘Green Town’ in his novels Something Wicked This Way Comes and Dandelion Wine. He says he has ‘only done one science fiction book,’ and that was not The Martian Chronicles. Who said his only science-fiction work was Fahrenheit 451? 

ANSWER: Ray Bradbury
6.
Examples of them include sigma and pi and they can be represented in Lewis structures.  Their strength depends on angular relations between atoms and they are usually formed when the difference in electronegativity between atoms is less than 1.5.  Name this type of chemical bond in which nuclei share one or more electron pairs.

ANSWER: covalent bond

7.
In 392, his co-emperor Valentinian II was murdered. After defeating Eugenius, he became the last emperor of a unified Roman Empire. After being excommunicated by Saint Ambrose, he conducted public penance and became very pious. Who then destroyed Alexandria’s Serapeum, put out the fire the Vestal Virgins guarded, outlawed hieroglyphics, and abolished the Olympics? 

ANSWER: (Flavius) Theodosius I (or Theodosius the Great)

8.
He shares a name with the owner of the Los Angeles Dodgers. He appears in the stage play A Couple of Blaguards with his brother Malachy (mah-luh-kee). A 1958 graduate of Brooklyn College, he taught English at McKee High School and Stuyvesant High School before turning to writing. Who wrote ‘Tis and Teacher Man, the sequels to his childhood memoir, Angela’s Ashes? 

ANSWER: Frank McCourt
9.
Along with Yugoslavia and Romania, this country was, according to Gerald Ford in a 1976 Presidential debate, not dominated by the Soviet Union. Twenty-eight years later, the contributions of its élite GROM commando unit in the 2003 invasion of Iraq were misstated, this time by John Kerry. George W. Bush helpfully reminded Kerry that he had forgotten the contributions of what Eastern European nation? 

ANSWER: Poland 

10.
Named after a British minister and mathematician, its applications include the Monty Hall problem, explaining frequency of false positives in drug tests, and conditional probabilities.  Name this theorem that states that the probability of A given B equals the probability of B given A times the probability of A divided by the probability of B.

ANSWER: Bayes’ theorem or rule or law

11.
The Danish linguist Otto Jespersen [yes-per-son] coined this term. Potential causes include European immigration to South-east England and the influences of spoken French. Words such as feet, mice, and make were pronounced differently after what major 15th century change in spoken English that affected non-consonants?

ANSWER: Great Vowel Shift
12.
Eric Ives called her, ‘the most influential queen consort England has ever had.’ She believed that the monarch should be the church leader. She did have an interest, as the Pope prevented her from marrying her intended. However, when only a daughter, Elizabeth, was born, her marriage ended. Witchcraft, adultery, and incest were the crimes supposedly committed by what second wife of Henry VIII? 

ANSWER: Anne Boelyn
13.
In 1948, he produced his last work titled, oddly enough, Four Last Songs. He wrote the hymn of the 1936 Olympics. He wrote comic operas including Der Rosenkavalier. He included the Dance of the Seven Veils in his serious opera, Salomé. The music at the beginning of 2001: A Space Odyssey is what composer’s tone poem, Thus spake Zarathrustra? 


ANSWER: Richard Strauss
14.
On July 22, 1822, after the Guayaquil (gwah-yah-keel) Conference, he apparently decided to retire from political and military life. He went to Europe in 1824 and never returned to the countries he helped make independent. What national hero of Argentina is considered one of the two South American ‘Liberators’ along with Simon Bolivar? 

ANSWER: José de San Martin (sahn mar-TEEN)

15.
Native to East Asia, this domesticated plant’s scientific name is Glycine max and its leading producer is the United States.  It has trifoliate leaves and its seeds grow in hairy pods.  It can be used in vegetable oil, substitute milk, and biodiesel.  Name this legume crop that is used in tofu.

ANSWER: soybean
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What was the nickname of the thirty radio addresses given between 1933 and 1944 by Franklin D. Roosevelt? 

ANSWER: fireside chat(s)

1B.
The deaths of Roderick and Madeline occur in what short story by Edgar Allan Poe? 

ANSWER: “The Fall of the House of Usher”

2A.
In 1953, the NAACP launched a boycott against the television version of what radio show that lasted from 1929 to 1960 and included characters such as the Kingfish?

ANSWER: Amos ‘n’ Andy
2B.
THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 216, 72, and 108?

ANSWER: 36
3A.
What bone forms the kneecap?

ANSWER: patella
3B.
2005 saw Mahmoud Ahmadinejad (ah-mah-dee-nay-jahd) replace Mohammed Khatami as president of what Islamic Republic?

ANSWER: Iran
4A.
What type of conic section is y = 5 times the binomial, x minus 3, squared minus 4?

ANSWER: parabola
4B.
Queen Victoria was a carrier of what genetic disease that impairs blood clotting, and was suffered by the Russian tsarevich (tsah-reh-vich), Alexei? 

ANSWER: hemophilia
5A.
What national adjective goes before the words “treat,” “uncle,” and “oven?” 

ANSWER: Dutch
5B.
What school merged with Pembroke College in 1971 and is the only Ivy League school in Rhode Island? 

ANSWER: Brown University

6A.
THIS IS A COMPUTATION QUESTION. What is the degree measure of the fifth angle of a pentagon whose other four angles are 120 degrees, 85 degrees, 170 degrees, and 55 degrees?

ANSWER: 110 degrees

6B.
What element, named after a country, is near the lower left of the periodic table?


ANSWER: francium
7A.
Give the x86 instruction for ‘jump,’ a command used to go from one memory address to another. 

ANSWER: JMP

7B.
Many of them are around Abu Sir and Saqqara, and they were mostly built in the Old and Middle Kingdom. What are these burial monuments? 

ANSWER: pyramid(s)

8A.
The Seven Pillars of Wisdom was an autobiographical account of what British soldier’s assistance with the Arab Revolt of World War I? 

ANSWER: Lawrence of Arabia or T(homas) E(dward) Lawrence
8B.
The daughter of Polonius and sister of Laertes (lah-AIR-teez) is what woman that Hamlet told, ‘Get thee to a nunnery’? 

ANSWER: Ophelia
9A.
What actress appeared in the movies Bright Eyes, Curly Top, and Poor Little Rich Girl, and is known for singing songs including, ‘On the Good Ship Lollipop’? 

ANSWER: Shirley Temple (Black)

9B.
Waco, Texas, was the headquarters of what splinter group of the Seventh-Day Adventists that was associated with David Koresh?

ANSWER: Branch Davidian(s)

10A.
Create a logical conundrum by saying, in French, “I don’t understand.”  
ANSWER: Je ne comprends pas (zheh neh cawm-prawn pah)

10B.
THIS IS A COMPUTATION QUESTION. If x = 6 when y = 11 and maintains that ratio, what does x equal when y = 253?

ANSWER: x equals 138
Third period, 15 toss-ups, 10 points each

1.
At sunrise, this god started as an infant, becoming an old man by sunset. Every evening was spent in the sun-boat with Ma’at, Mehen, and a non-evil Set protecting the sun from the underworld’s waters. With a busy schedule like that, he was happy to let Osiris and Horus rule over humanity. What Egyptian sun god merged his divinity with either Amon or Atum? 

ANSWER: Ra (rah) or Re (ray) (ALSO accept Amon-Ra, Ra-Amon, Atum-Ra, or Ra-Atum, and accept ‘Re’ instead of ‘Ra’)

2.
It is named after a Scottish physicist and, as derived from Snell’s law, is equal to the arctangent of the ratio of the refractive indices of two media.  Between air and water, it is approximately 53 degrees.  Name this optical angle, also known as the polarization angle, in which light of a certain polarization cannot be reflected.

ANSWER: Brewster’s angle

3.
This playwright’s character, Gregers Werle (VAIR-leh), finds all was not as it seemed in The Wild Duck. Another of his characters, Thomas Stockmann, becomes unpopular after he learns a leather tannery is poisoning the town baths in An Enemy of the People. And his character, Helene Alving, reveals the truth about her late husband in Ghosts. What Norwegian also wrote Peer Gynt, Hedda Gabler, and A Doll’s House?

ANSWER: Henrik Ibsen
4.
He lost to Tim Henman at Wimbledon in 2001, but not before handing a loss to four-time defending champion Pete Sampras.  He defeated Mark Philippoussis in 2003 to win his first Grand Slam title. He has twice won three of the four Grand Slam titles in the same calendar year, losing only the 2006 and 2007 French Open titles to Rafael Nadal.  What Swiss tennis player is currently the #1 ranked tennis player in the world?  

ANSWER: Roger Federer
5.
The oil fields of the North Sea date from this era, along with the first corals. The Tethys Sea was also formed during this time. Its end is marked by the K-T boundary within rock strata and a mass extinction. What geologic era ended 65 million years ago and was the time of dinosaurs?

ANSWER: Mesozoic Era

6.
THIS IS A COMPUTATION QUESTION. What is the median of 41, 26, 32, 17, 385, 6, 21, and 57; given that these numbers from least to greatest are 6, 17, 21, 26, 32, 41, 57, and 385?

ANSWER: 29
7.
These two features on the Earth are not antipodal - you cannot draw a straight line through the Earth from one to the other.  The Northern one lies in northern Canada and is rapidly approaching Siberia, while the Southern one is outside the Antarctic Circle.  What are these two points on the Earth, the actual location of where a compass points rather than to true north or south?

ANSWER: Magnetic Poles (Do not accept or prompt on “Pole(s)”)

8.
His work became potentially more than legend after the excavations of Heinrich Schliemann. Robert Graves thought a woman wrote one, or both, of the two works now attributed to him. The Emperor Hadrian asked the Delphic Oracle about his true identity. The only thing that the traditions agree on is that he was born on the island of Chios, and that he was blind. Who is attributed as the author of the Odyssey and the Iliad? 

ANSWER: Homer
9.
This city’s motto is literally translated to English as ‘The Homeland Starts Here,’ but the government translates it as ‘Gateway to Mexico.’ Two major highways connect it to Ciudad (see-you-DAHD) Juarez (hwah-RAIS) and to Cabo San Lucas. Its Avenida (ah-vay-NEE-dah) Revolución (ray-voh-loo-see-OHN) is a popular party spot for college students from California. What city, home of the world’s busiest border crossing, is located on the US border a short distance from San Diego? 

ANSWER: Tijuana, Mexico

10.
This actress had a cameo in Reality Bites, where she played Tami. She was an apron-wearing Music Town employee that slept with Rex Manning in Empire Records.  Despite being neither British nor overweight, she was the lead in Bridget Jones’s Diary. She said, ‘You had me at hello,’ in Jerry Maguire. Who played murderess Roxie Hart in Chicago?

ANSWER: Renée Zellweger
11.
The 1951 world premiere of his film Father’s Little Dividend was a fundraiser for the school for deaf children he set up and named for his son John. He died shortly after filming Guess Who’s Coming to Dinner?, where he played the role of father Matt Drayton. Although he never divorced his wife Louise, what actor made nine movies, including Woman of the Year, with longtime companion Katharine Hepburn? 

ANSWER: Spencer Tracy 
12.
Notably, it does not have ‘Corporation’ in its name, as Asa Griggs Chandler had abandoned the ‘Corporation’ in 1894. It used a formula devised by John Pemberton in 1886, and it is part of the Dow Jones 30. Its failures include 2007’s ‘Blak’ and 1985’s ‘New’ variety of its flagship product. In 1934, what company refused a chance to buy out its struggling rival, Pepsi-Cola? 

ANSWER: The Coca-Cola Company (prompt on ‘Coke’)

13.
The title character is last seen as a ‘girl of the painted cohorts of the city.’ After her death, her drunken mother, Mary, says: ‘I’ll fergive her!’ The title character’s boyfriend left her after being seduced by Nellie. Her father, Mr. Johnson, and her baby brother Tommie die, leaving her dependent on her boyfriend, Pete. Jimmie, the title character’s brother, is the narrator of what novel by Stephen Crane? 

ANSWER: Maggie: A Girl of the Streets

14.
It is stronger than iron but weaker than steel, and gave its name to a historical age lasting from 3500 BC to 1200 BC.  It can contain aluminum, silicon, phosphorus, manganese, or nickel, but it usually contains tin and always contains copper.  Name this type of alloy that is given to third-place finishers at the Olympics.

ANSWER: bronze
15.
Much of its design was based on the Leinster House, which is today where Ireland’s Parliament meets. Its sandstone walls were covered with a mix of lime, rice glue, casein, and lead, after it was ready for occupancy on November 1, 1800, thus giving it a distinct color. Two wings were built in 1902 and 1942 to the west and east. What building, located at 1600 Pennsylvania Avenue, is the home of the President? 

ANSWER: the White House
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
In 1997, he won a $25 million judgment against the Sta-Rite makers of pool drain covers. After the death of his son Wade in 1996, he turned to politics. In 1998, he defeated Lauch (rhymes with ‘couch’) Faircloth to win a Senate seat from North Carolina. Whose wife, Elizabeth, announced she had been diagnosed with breast cancer in November 2004, a day after he lost the Presidential election along with running mate John Kerry? 


ANSWER: John Edwards
2.
This fictional boy appears in two books. In them, he lead an expedition to the North Pole, hosts a party for his anthropomorphic friend, explains his morning routine while Rabbit has a ‘busy day,’ and goes to boarding school. He is based off the real-life son of his creator, A.A. Milne. The Hundred Acre Wood is the favorite haunt of what best friend of Winnie-the-Pooh? 

ANSWER: Christopher Robin
3.
Research shows it may be inborn in all people, as small toddlers have expressed reluctance to walk across glass floors. In occasional cases, it can lead to difficulty doing simple tasks such as standing on a chair or climbing up stairs. Even worse, the sufferer may feel the urge to jump from their position. What is this extreme fear of heights? 

ANSWER: acrophobia
4.
First formulated in the 1960s by James Lovelock, it has been referred to as “Earth System Science” and demonstrated in the computer simulation Daisyworld.  Evidence for it includes consistency in ocean salinity, atmospheric composition, and global surface temperature.  Name this ecological hypothesis of planetwide homeostasis that is named after a Greek earth goddess.

ANSWER: Gaia hypothesis

5.
THIS IS A COMPUTATION QUESTION. Other than one, it is the only Fibonacci number that is a cube.  Name this second octagonal number that is the cube of two.

ANSWER: 8
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

